[SERE= 7

EEGEDEIE APt .
BT v 720L+¥EH T v 720kg + $5L20kg 3% ’
TEIEEM [BAT7T v 7] 200 v b 6,966
TEREEM [BAT7 v 7] 2V v b 1,890
LZLREDREmE [MERER] 2V v L 1,998
ZOREDEEmE [HMIEARER] 10U v FL 6,966
Y TERMERE [ AEXHEAE30L 1,458
ZOREDREEmE [FMERER] 18U v L 11,124
EH100% ) VB - AL LesfLBRE [856k] #5K Skg 702
B1100% ) VB - LT Leafe Bk T85Ek] ¥R 20kg 2,592
BHE100% Y B - s LARILBRL T836%) <=L v b 20kg 2,808
BEWE ! 896k MK 20kgx 108t v + 23,760
BEWE ! 896k MK 20kgx50%t v + 113,400
BEWS | [8k] qL v & A7 20kgx 105t v + 25,920
BEWE ! 8] Ly b&A 7 20kg x 505+ v + 124,200
EHMEHERIO0% [vy RILEYZXZ—] 20kg 3,024

MITFRBERL [H IS8R 15kg 2,592
MTRIED LEBRL [hcF > 7~ 20kg 2,592
N T I/ BRRE THEHT v 7] 20kg 6,804
N7 I/ BRRE THAhT v 7] 2kg 1,836
BRI/ BRIE [FrR #EH 7T v 7] 20kg 6,804
EYBEEAYKIE 2—Y =LK 20kg 7,344
EYERAYBIE -V I—LF 2kg 1,944
MEE REMR RV ] 2U v b 1,512
MEE BFER [XECHY] 10U v b 3,996
MEE BER [FEICHAY] 10U v b2kt y b 7,560
BHEE ALY I L [RKKCa (PAHL) | 2Uwy kL 2,376
BEEH LY I L [ASCa (¥YAL) | 10Uy b 7,560
oW o—FA4TcEayrT7oy s [RE—F| RiEx47 3,140




